Trigonometrische Beziehungen

1. Summensatz

sin(e £ ) =sina -cos g £cosa -sSin
cos(ax + ) =cosa -cos B Fsina -sin

tana-tan g
tan(a + ) = IFtana-tan g

sin(2a) =2-sina - cosa
cos(2a) = cos® a —sin’ a

tan(2¢) = -2tana
1-tan

2. Summensatz

sinx+siny =2-sinX%¥ cosx;zy

2

sinx—siny:Z-COS% sin 2y
COSX +COS Y = 2 COS =52 - COS
cosx —cosy =—2-sin ¥ -sin 5L

Trigonometrischer Pythagoras

sin?x+cos’x=1

H 1 _ 2
sin? x =1—cos? x sin x = v1—cos® x
cos’ x =1-sin?x cosX = +4/1—sin? x

Sonstige Beziehungen

sin? x = 3[1-cos(2x)]

cos” x = [L+ cos(2x)]

Merkstruktur
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